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o RE: FREAZEK
o fRFSFRIF (linear predictor):
(BBEZEHDFY) = EE (TR)
+ (fRE1) x (GRBAZ#1)
+ (fr%12) x (FiEAZ%K 2)
+ (fR%13) x (FREAZ% 3)
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R C—RILIREET IL: glm() BA%K

i LB AR NSA—8 —HTE
(BEB) NI X—A 92 rbinom() glm(family = binomial)
—l 2 rbinom() glm(family = binomial)
K7V VD% rpois() glm(family = poisson)
BOEHS T rnbinom()  glm.nb() in library(MASS)
(Eft) Hr~oHhm rgamma () glm(family = gamma)
EHRST rnorm() glm(family = gaussian)

o gln() THEAZHENHREZUNEHS

e GLM [FERORE - EOF - D8O - R7Y VAR - O RT1v )
LEZF0MD TLEHDO2H] EEZTELVDLE

e SHIIR7YVVEIFE ZF>7 GLM BN LET
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Y JODOMETETIVL] EEX LD

> load("dice.RData")

> length(d) @ -3
[1] 1600 /0 - o

> table(d) 0
d

i 2 3 4 5 6 \’ 4
191 155 159 181 151 163 ‘
> plot(1:6, c(table(d)), ylim = c(0, 300))
> abline(h = 1000 / 6, col = "#ff400080", 1lwd = 3)

N RIS

s 1o - lMeeeEYrI0O30fk
v 1000/6 = 166.66...7
[ S S S S
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Categorical Distribution / - ®

AT AILDTE -
0 (]

p(Y =Kk)=pr < _.*°
pr =1
;; k

ke{1,2,3,4,5,6}

75—
- Py Py . Ps  ppmvroosor
1P Py Dgrovoss - 166.66...7

250

c(table(d))
150

T T T T T T
1 2 3 4 5 6
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BABER | popwems

ko 1000

> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163

i pEF— 15
s ] 22 P3 . 135 ~1000[Er IO DT
h Py Pgrooose - 166.66...2

T T T T T T
1 2 3 4 5 6
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NS X—5 —DIEE
~ k OB TZEIE

ko 1000

> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163

. 25
5 P, p; . Py |iesemv«aosor
%opl Py Dgrovoss - 166.66...7
[ S S RS
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(O JODHETETIL] [CTEBCE
ALERE

L]
D
> v.prob <- table(d) / 1000 /0 -« o
> replicate(8, table(sample(1:6, 1000, ®
+ replace = TRUE, prob = v.prob))) \\. o

11 [,21 [,3] [,4] [,5] [,6]1 [,7] [,8]
185 201 174 202 179 193 198 197
156 159 158 164 160 141 154 151 @
173 161 195 180 177 153 147 173
176 171 173 177 189 174 200 190

147 157 152 139 138 171 122 130
163 151 148 138 157 168 179 159

OO0 WNRE
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0000000000 iRt
[ JO0OHMETETIV] (CTEDCLE

N
T -=.
> # Y430 1000 E3HD%E 1000 EP3 /' « 0
> siml000 <- replicate(1000, \ )
+ table(sample(1:6, 1000, replace = TRUE, o
+ prob = v.prob)))
>#5 £DE 6 NS TREHIT?
> sum(sim1000[5,] > simle00[6, ]) @
[1] 247

># 3 KDE 4 NBLTRHEEMIT?

> sum(siml1l000[3,] > sim1000[4,])

[1] 111

>#5 K1) 6 ABLEEIC,3 £DE 4 NS TROEHEIE?
> sum((sim1000[5,] > sim10E0[6,])

+ * (sim1000[3,] > sim1000[4,]))

1] 35
kubo (http://goo.gl/HvRhXn) ooooooooo ooo ol 2015-02-28 23 / 64


http://goo.gl/HvRhXn

goooooooooo “00000" 000000

(O JODHETETIL] [CTEBCE
:E%)DETR’@@E / -*

RO

EF7IVRIR 7—5
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ETN2Lp MINTRES o) omL

ETILERED

250

1000l 0.5 o
1000/6 = 166.66...7

c(table(d))
150

T T T T T T
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p>0.05 57

MAIEE XL &

SR I DDMIEL L
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c(table(d))
150
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M- JOOETETIVL] ICTEBCL

INSA—=5 —DHE

BLEFE

~ k OEMHEE > v.prob <- table(d) / 1000
= — > replicate(8, table(sample(1:6, 1000,
k 1000 + replace = TRUE, prob = v.prob)))
 rable(d) [,1] [,2] [,3] [,4] [,5] [,6] [,7] [,8]
1 2 3 4 5 6 1 185 201 174 202 179 193 198 197
2 156 159 158 164 160 141 154 151
191 155 150 181 151 163 3 173 161 195 180 177 153 147 173
mEmF_ gy 4 176 171 173 177 189 174 200 190
P P, 5 147 157 152 139 138 171 122 130
2 p3 . 5 _|1000EY— J0O3>fz 6 163 151 148 138 157 168 179 159
1 Dy Dgrovoss - 166.66...2

M JOOKETET IV ICTEDC L

TRl
> # Y400 1000 E5HD%E 1000 EP3
> sim1000 <- replicate(1000,

+ table(sample(1:6, 1000, replace = TRUE, \\. o

+ prob = v.prob)))

> #5 &£0E 6 NS THERI?

> sum(sim1000[5,] > sim1000[6,])
[1] 247

> #3 £DE 4 A2 THERI?

> sum(sim1000[3,] > sim1000[4,])
[1] 111

>#5 &£ 6 ABLIESEC,3 LDE 4 NS THERII?

> sum((sim1000[5,] > sim1000[6,])
+ * (sim1000[3,] > sim1000[4,]))
[1] 35
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c(table(d))
150 250

0 50

EFIV p AT RTELL
EFI2 p NENTRAD

ooooooooo ooo o1

M- JOOMBETETIV] ICTEBCL

M IOOKETET IV IETEDC L
EFILERPIRE

| E=FLER

#8771 O/
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O0: 00000000000 000ooo0o0oOO0O0o0O0oO0O0o0O0oO00

goooooo0oooooo gOooooOoOoOo0oOoooOOO0OOOoOooooaO

000000 (00) 0000000000

guodouoouooooood

goooooooooood .’.:o
° [ ]
00 000 w
0 5000 00 {yw}oooooo!
i€{1,2,3,---,50} {wit ={y1, 92, ,ys0}
r

ooooOo {y} 0000 ROOODOOOOOOOOO

godoooooooooooo
> data

[1] 2246452312043333427243334
[26] 3 753176465247226245451323
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Histogram of data

°

8 lP 12

Frequency
i

4
\

? 1

> hist(data, seq(-0.5, 8.5, 0.5)) # 00000000000
> lines(y, prob, type = "b", 1ty = 2) # 00000000000
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00D0000D0OD0OD0O0OD0O00O?

Ad000D0O0O0D0ODOOOOODOOOn

lambda = 2.0 49 lambda = 2.4 49 lanbda = 2.8
log L = -121.9 log L = -109.4 log L = -102.0
o
o
o
T T T 1 T T 1
0 4 6 8 2 4 6 8
lanbda = 3.2 8 lambda = 3.6 8 lanbda = 4.0
log L = -98.2 log L = -97.3 log L = -98.5
EE EE
| 0]
o o
T T T 1 T T 1 T T T 1
0 4 6 8 2 4 6 8 0 2 4 6 8
larbda = 4.4 o lanbda = 4.8 a9 lambda = 5.2
log L = -101.5 log L = -106.0 log L = -111.8
ER ER
w0 w0
o o
I T T 1 T T 1 I T T 1
0 4 6 8 4 6 8 0 4 6 8
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e OUD: ODOO {y}
e DODODO:

e OO0 {z;}

e 0000 {f;}

ggad
e JOO (fi=C): 50 sample (z € {1,2,---50})
e 0OODO (f; =T):50sample (i € {51,52,---100})
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odouooooood

@ oooon

data3a.csv 0 CSV (comma data frame d 0 O O
separated value) format file 0 0 0O O -
ROODODODOODODOOODOOOOO: v < f
1 6 8.31 C

6 9.44 C
> d <- read.csv("data3a.csv")

6 9.50 C
000040000000 data ~-0oon..
frame (00000D00)0000 99 7 10.86
00 100 9 9.97
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000000000: 00000000000 0000D0O000O0O0O00OO0O0DODOO0O0OOO0OOO0?

Dooooooooooo!

> plot(d$x, d$y, pch = c(21, 19) [d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

<+_]OC ° °
TleT ° °
N o @O0 O
ce Oe o
== me O ©o® )
2 ® ® IO )
T oo oe ® @eeeO o
O ees e@
o O® e eE® Oe O o e
o oO® o eee
< o ®0 )
o o °
- o
I I I I I
7 8 9 10 11 12
d$x
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Jodouoooooodouooood

e OUD: ODOO {y}
e DODODO:

e OO0 {z;}

e 0000 {f;}

ggad
e JOO (fi=C): 50 sample (z € {1,2,---50})
e 0OODO (f; =T):50sample (i € {51,52,---100})
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RO GLMOODOOOODDOOO 000ooo0o0oOO0O0o0O0oO0O0o0O0oO00

glm() DO0OO0OOOOO

e family: poisson, U0 00O BENRIERT VY V3%
0o BT
= o
3 n n g OL. kﬁﬁﬂ
e link J0: "log 5 i mi .
e U000 (DOOUDODO 2): O o 5
000y~ x000000
g

o 00000 z= 51+ fox
B,/ 000000000000
o 000000000 XO0000 log(A) ==
000 X=exp(z) = exp(B1 + B27)
o 0000 D00 ANOODOODOODOO: y~ Pois(A)
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(A) 0000000 k=1 (B) DOODOOD k=7
| D0O0QPEo00Qo | Doogprfooog
N o [eYelKe] N o [eYelNe]

00 00 O 00 00 O
S o @O c@m O o @O oo O
] o ommwo o o o@mmo o
O o 0.0....0.  @OO®D.O o] 0,00~ @00\ O
O 0 o® 0 o®
© O Cam oG 00 O 00 o] O camp Oam 00 0 00

o 00 00 o 00 0a®

< o @ o < o @ O

o o o o o o
[ ] A ()

T T T T T T T T

7 8 9 10 11 12 7 8 9 10 11 12

oooo =z ooodo =

What is the “best?” parameter number k7
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00000000 : deviance

Ooooo0: AIC = —2log L* + 2k

gOooooOoOoOo0oOoooOOO0OOOoOooooaO

AICOOOOOOoO0O0
Deviance i
model ksl TN v AIC
constant \ 1 -237.6 475.3 89.5 477.3
f 2 -237.6 475.3 89.5 479.3
X 2 -235.4 470.8 85.0 474.8
x + f 3 -235.3 470.6 84.8 476.6
saturation 100 -192.9 385.8 0.0 585.8

AIC: A (or Akaike) information criterion
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poooopooooooo 0000 binomial distribution [ logit link function
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> glm(cbind(y, N - y) ~ x + £, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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model
{
for (i in 1:N.data) {
Y[l ~ dbin(qlil, 8 7~ FIMEDSS
logit(qli]l) <- a + r[i] =

¥ S CEAT RBOEEE

a ~ dnorm(0, 1.0E-4) g A< r (i) <y
. =211 i

for (l in 1:N. data) { SEELEN T g hyper S ﬂaﬁgio)

parameter jg s

r[i] ~ dnorm(0O, tau) FISBER ST A id ooE

} o EIEREBRID T

(HBERI2 1)

tau <- 1 / (s * s)
s ~ dunif (0, 1.0E+4)
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> source("mcmc.list2bugs.R")

# 0000oooooo.

> post.bugs <- mcmc.list2bugs(post.mcmc.list) # bugs 00O OO0

3 chains, each with 4000 iterations (first 2000 discarded)

* ar_rgg {hcated fOr bR ofgp;gg 2+

104

sUb G b

0
541

3.59
S3 1

2.5-

medians and 80% intervals

{ 4 M~
AT V’H’ HRIA

107 1 2345678010 12 14 16 18 20 22 24 26 28 20 32 34 36 36 40
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